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AR 22 A 50,000 50,000 0
401 Al HI L S O b 50,000 50,000 0
01 A&t 50,000 50,000 0
OBNSX B2l 50,000
—2SOSIN o 95 5,000,000% * 105 50,000
SEALRR(+ELDE/ER) 5,464,788 6,471,424 ~1,006,636
=l 780,000
2 4,684,788
c2ALE BF 4,555,590 5,476,988 £921,398
=l 780,000
2 3,775,590
T2 IEN ALY 100,000 679,720 A579,720
401 A& HI2L 2 O Y| 100,000 679,720 A579,720
01 Al &l 99, 100 675,040 575,940
OFEER(ZE) HEHAL 93,320
— S DU (ZE115) WA 933,200 *100m 93,320
OMAEH B 100,000, 00021 5. 78% 5,780
03 Al &2 CHHI 900 4,680 N 3,780
CBII=E 900
—NERHH(AEEZ HSHAY) 100,000, 00021 0. 90% 900
DEANDRSRHLAY 650,000 0 650,000




FAAd8nEN
BH: CRALRR(4SLDS/ER)
t¢e E2ALdE IH (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
& 650,000
401 Al&HI 2 2 0h I 650,000 0 650,000
& 650,000
01 Al & HI 650,000 0 650,000
O SSIAHAL 650,000
—WSADFESRIHE ALY 650,000, 000& =14 650,000
& 650,000
s CES T ALY 1,769,050 1,448,680 320,370
401 AIEBIZ 208l 1,769,050 1,448,680 320,370
01 Al & HI 1,763,650 1,444,000 319,650
O=2& EZFAMY 1,500,000
— g A~2AH (2 =65, 1.3km) 400,000,000& 1A 400,000
—dAR~NH (245, 1.2km) 400,000,000& =14 400,000
— S &P (2E165, 1.0km) 700,000,000 =14 700,000
O&ANEAH Y 90,000
— JA XA (FE95, 1.2km) 3,000,000, 000& *3.00% 90,000
OMESELHE Y 45,000
— JA KA (FE95, 1.2km) 3,000,000, 000& *1.50% 45,000
O=z=&cl A Y 45,000
— @A~ A (2E95, 1.2km) 3,000,000, 000& *1.50% 45,000
Osgx==8 49,600
-2 HY=REX = 248,000& 200 X 49,600
OZ&EI} ==& 1,050
—2& HYRX JHEI} =2 1,500,000, 000& *0.07% 1,050
O 8ll==8g 3,000
—2& BHYUREX S22 15,000& 200 X 3,000
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25 A
X XH -
o /ot

el

S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2

SIEEELS 30,000
-2 028X 243 50,0002 *600 M 30,000

03 Al &= 0hl 5,400 4,680 720
OJIEH A b 5,400
—NERHH(ZE STIHAY) 1,500,000, 0002 *0. 36% 5,400

OEERANM(EX) 60,000 440,000 380,000
= 30,000
= 30,000

401 Al &8I L 2Tl 60,000 440,000 380,000
z 30,000
= 30,000

01 A&l 59,491 436,832 A 377,341
ORS3HAY 59,491
— O{RI0I2 52 M A 56,023,0009 *14! 56,023
= 30,000
= 26,023
— AN 60,000,000% *5.78% 3,468

03 Al &= Chl 509 3,168 ~2,659
OS5I H A 509
— RIS TAMMAL JIEFB I 56,520,000% *0.90% 509

Ot EAANEOI TR EAIRA (2 F) 200,000 300,000 100,000
= 100,000
= 100,000

401 Al S HI YL 2Tl 200,000 300,000 100,000
= 100,000
= 100,000

01 A&l 198,626 297,840 £99,214




FN:AE0SH
M ERZALBRA(+SLDE/ER)
Chel: AL 12X (el =@
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
OZ =3I AMH 198,626
— 00T NE B I ASAY 189,386,000 14 189, 386
& 100,000
= 89,386
— & A E A 200,000, 000& *4.62% 9,240
03 Al &= CHHI 1,374 2,160 AT786
OZE3AMN 1,374
—eloltdFAFZECI Tt A ALY JIEFEHI 190,760, 000& *0.72% 1,374
ETZEIIAY , 776,540 1,808,588 A 32,048
401 AIEHIZ 201 I , 776,540 1,808,588 A 32,048
01 Al & HI , 771,860 1,802,360 230,500
OsHEEZE EZHIAM ,300,000
— &4 A (0.8km) 300,000, 000& =14l 300,000
— 012 (0.6km) 200,000, 000& =14 200,000
— Jt& & (0.6km) 300,000, 000& =14 300,000
— S&hd (1.0km) 300,000, 000& =14 300,000
— 2 & (0.4km) 100,000, 0003 * 14 100,000
— CHetA (0.6km) 100,000, 000 *14] 100,000
O&ANEAH &S 186,800
— CHetA (0.6km) 1,000,000, 000& *3.38% 33,800
— &l &4 (1.6km) 2,400,000, 000& *3.00% 72,000
—2H(1.8km) 2,700,000, 000& *3.00% 81,000
ONFBALBEI B 91,500
— i ebH (0.6km) 1,000,000, 000& *1.5% 15,000
— &l & (1.6km) 2,400,000, 000& *1.5% 36,000
—EH(1.8km) 2,700,000, 000& *1.5% 40,500
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25 A

==
3 5§A|§J3|(¢%E—JDL%/E§)
Cel: TRALY IE EEE-T)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OozzelHE 89 91,500
— i etH (0.6km) 1,000,000, 000& *1.5% 15,000
— &S M (1.6km) 2,400,000, 000& *1.5% 36,000
— =24 (1.8km) 2,700,000, 000& *1.5% 40,500
O=gx==2 49,600
—-SHEEZ S22 248,000& =100 X 24,800
—sHEZ=Z2 028X Eg=+2 248,000& =100 X 24,800
OZdFEIx=& 960
—SHEEZ 282 1,200,000, 000& *0.08% 960
OsJl==8g 1,500
—0=2EX 15,000& =100 X 1,500
onlsgX 24 50,000
—sHEZz 028X EA2 50,000& =1,000m" 50,000
03 Al 2 CHHI 4,680 6,228 A 1,548
OJIEtE I 4,680
—ANE2UHH(SHEZZ SZFAY) 1,300,000, 000& *0.36% 4,680
CRANERNES 909, 198 994,436 £85,238
SZANERRNE 2 909, 198 724,363 184,835
101 r24H] 4,168 3,888 280
04 JI12ZtHZ22 S8+ 4,168 3,888 280
O=2& WsSETA 41,6803 x50 x2 4,168
201 YEr2 | 63.790 70,740 £6,950
01 AtR 22l Hl 57,030 54,380 2,650
Oz=2&423 &Y 70,0003 x4 H 43| 1,120
O&olitHz Z &l 7,000& x17H %40 4,760

_16_




fA:

FaR=RmE=gn_

3 CZAL2e(+ELNE/EZ)
Cel SRAERANES (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
O==23 Ui HE:FH 1,400 +S 5= 1,000m| 1,400
OLditiME EZEY Y =241)| A= 500,000& *3CH+30! 45,000
OL2+Z2¥ IS & A3 2¢ 4,750
— 1=l 150,000& 194 2,850
— ot& &t 100,000& x19Y 1,900
02 =324l 6,760 16,360 A 9,600
OHIZEZ(15E) B8 2,300,000& = 1CH 2,300
O=24D1(0.2m) B8 = 3,500,000 *1CH 3,500
OFSPIPNE=3=1 960
—g3EsE EN HMII HIAMER 80,000& x1CH =123 960
206 M = 4l 137,300 153,474 A16,174
01 =4l 137,300 163,474 AN16,174
OzFHE XM 7 50,000 171 x5& 4,250
OLdti¥E Hatzs 2 250,000& «200& 50,000
OY AL 2L 20,000& =500 m’ 10,000
OUW=II S5 1,900& x5004 *5CH 4,750
SH dolltHé 2 ESYH RFUH 300,000& «51CH 15,300
OHolti®E DY LA (EES) 600, 000& «20CH 12,000
OLoitHéz doEd I =24 |22l 24,000
—gOEd 1,000,000 «12& 12,000
— =4 1,000, 000& =122 12,000
OEZE" KX 2l 2,000,000& 2,000
OZ3st=(Z0otAa2) 2¢ 15,000& 1,000 15,000
302 OI=2H Mol 2 &= 10,000 10,000 0
02 QIZIOITHOH E & = 10,000 10,000 0




AN AENE D

M AL (5L NS/E2)

Cel SRAERANES (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

OZZAIEAMD e 2 H™eltl 10,000, 000 * 14! 10,000

401 AlEBIZ 2 0H 8] 491,940 416,261 75,679

01 Al & HI 489,780 414,000 75,780
OEZ2RIA 22 HEFAY 120,000
— LHZ & (L=0.2km) 50,000, 000& =14l 50,000
— 23 2015 & (L=0.3km) 70,000,000 =14l 70,000
OZZ2HEAY HAAEH E2FYI 100,000, 000& *5.78% 5,780
OEZwX&el At 1,300, 000& = 100km 130,000
OunsEetH=EXE X ¥ FHl 1,000,000 *50JH A& 50,000
Oz2& & sHEZZ UM 1,200, 000& *70km 84,000
Oung etMEE W B 5,000, 000& *207H 2~ 100,000

03 Al 2 CHHI 2,160 2,261 A 101
OJIEHEEI(E2HE =AY L AT 22l AY) 2,160
—ANE2UHHI(Z2HE ALY 120,000, 000& *0.72% 864
—ANERUHH(E2 2 X 22 AHY) 180,000, 000& *0.72% 1,296

403 XHXIEM S X201 ™ 200,000 0 200,000

02 ZJ1 2SOl CH8HCH & AL Bl 200,000 0 200,000
OEHO0E HUIAIY X&) 200,000, 000& =14 200,000

405 X+H&HE S HI 2,000 70,000 A 68,000

01 HtAXESHSHI 2,000 70,000 268,000
ozzzels 83 72 2,000
-8 WA 72 500,000 =2CH 1,000
—dxs 2 1,000,000 = 1CH 1,000

ST E(SHHYSM/S - 5&) 12,476,092 11,701,357 774,735
& 8,314,000




A
X ZH -
=1

el

O O ¥
M 12 Mx
(=S|

o (K o

p
AIE(sYNYLN/5Y - 5E)
Mg L SNy =5

= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2

< 1,137,938
2 3,024, 154

SENSHY ¥ sPMMS 5 10,520,425 9,552,000 968, 425
= 7,352,000
3 804,725
2 2,363,700

ZESNT HAGSTLHAMY 1,554,000 1,146,000 408,000
z 1,088,000
2 466,000

401 Al & HI 2 2 Y| 1,554,000 1,146,000 408,000
z 1,088,000
z 466,000

01 Al &t 1,548,405 1,144,820 403,585
OZS3AY 1,548,405
~ZSHANSELAY JIPAIE T8 A 1,548,405,0002 »1 4! 1,548,405
= 1,088,000
2 460,405

03 Al &= CH I 5,595 1,180 4,415
O BSIAAMN 5,595
—-ZSHANSEZAY JIEHZ Y] 1,554,000,000% *0. 36% 5,595

@ oler Fl 225,000 250,000 £25,000
z 180,000
< 22,500
z 22,500

401 Al &Yl 2 2 THYI 225,000 250,000 £25,000
z 180,000
< 22,500
2 22,500




SN ALDED
M s IR (sgllYsdt/s8 - s&)
2 sE0SiHe & sPAud =5 (el =@
= = & E
A EB -G (BH) - NRAY - BES 0l & e HlDZ 2
01 Al & HI 223,380 248,200 N 24,820
OZ =3 AMA 223,380
— QAKX EIIEHEHIAI (22 ¥ s2EE) 223,380,000 14 A& 223,380
& 180,000
= 22,500
= 20,880
03 Al &2 CHHI 1,620 1,800 A 180
OZS3AANY 1,620
— Q&K EDIEHEHIANY DIEHE I 225,000,000 x0.72% 1,620
WEHAA SEHLAEY 1,082,857 2,486,000 A 1,403,143
= 758,000
= 97,457
= 227,400
307 2I2tol A 14,400 14,400 0
= 10,080
& 1,296
= 3,024
02 QAP EXS 14,400 14,400 0
O ZE3AHAME 14,400
— HEHAA ZFIHLAMY(AARE E=) 1,200,000& x1H x12& 14,400
& 10,080
= 1,296
= 3,024
401 Al EHIZL 28I 1,068,457 2,471,600 A 1,403,143
= 747,920
& 96, 161
= 224,376
01 Al & HI 1,062,409 2,462,882 A 1,400,473

_20_




FAAd8nEN
B S0 T A (SR LA L
el SEOISHY U SAMNY T
SH-EH.C(BH) - HRAY - BAS Aroy e 2t
O 2SSAHAMG 1,062,409
—WMAHAA B [ AR (3EHAI) 1,062,409
AbEHI 962,409,000 14 962,409
& 747,920
& 96, 161
= 118,328
NS A 100,000, 000& *14] 100,000
03 Al =2 0HHI 6,048 8,718 A2,670
O ZS3IAMH 6,048
— AN SEHEAME JIELEYI 960,000,000& *0.63% 6,048
QA -FAHA ZEM 1,784,285 680,000 1,104,285
=1 1,249,000
= 160,585
i 374,700
201 Ler2 3| 3,000 0 3,000
= 2,100
= 270
i 630
01 At 22| Hl 3,000 0 3,000
OZE3AHAS 3,000
— SN F 2,000,000 x13| 2,000
= 1,400
= 180
= 420
— At 2 2 200,000& 53] 1,000
& 700
& 90
= 210




2AM:
X XH -
L= B

el

O O ¥
M 02 nx
=N
o 1K o
o R
g 4
W
o
o
%
02
e
£
0f
1%
0o
T

o
=

SA - EB - HA(BH) - NRAY - HES

0l &+ o

fEle=
Ol &t o

202 044l

M H ooy

2,000
1,400
180
420

2,000

01 2ol
OZS3AANY

—UlHH(S2E)

100,000& 20

M ooy

2,000
2,000
2,000

1,400
180
420

2,000

403 XXM S X201 &

M OH ook

1,779,285
1,245,500
160, 135
373,650

680,000

1,099,285

O
(U
Jn e
toroin
2
o
o
o
0
=
QR
=S

=
=
1%

[
1]
2
>

e
4
rx
M
e
OB
]
&
e
>
Q
™
W
O
=)
i
0K
>

1,779,285,000& 14|

M H ooy

1,779,285
1,779,285
1,779,285

1,245,500
160, 135
373,650

680,000

1,099,285

0t
r
ry
12
o
]
=
e
>
110

A H ooy

428,571
300,000
38,571
90,000

573,000

A 144,429

M OH oo

3,000
2,100
270
630

3,000

01 At 22l bl

3,000

3,000
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SN AL DED
M ST RS (SUNSLL/ S - SE)
CHel SEDISHY U SAMMY HE R
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t
= 235,460
& 30,273
= 70,638
01 Al & HI 336,371 0 336,371
ZE3AH ALY 336,371
—J2H8 84 4,000,000,000& *1.47% 58,800
=1 41,160
& 5,292
= 12,348
—AANEH Y 3,500,000,000& *2.94% 102,900
= 72,030
& 9,261
= 21,609
— NS SLSAY A 50,000,000 *14] 50,000
=1 35,000
& 4,500
= 10,500
— 24| 124,671,000 *14] 124,671
=1 87,270
& 11,220
= 26,181
= SEMLEMS 355,714 0 355,714
& 249,000
& 32,014
i 74,700
201 LEer2 Al 3,000 0 3,000
& 2,100
= 270
i 630
01 At 2teltl 3,000 0 3,000
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O
U
%
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4
>
oF
1%
i
i

O O ¥
M 12 Mx
(=S|
o M

0

o (K o

o
=

o
it
=

i

MET

SA - EB - HA(BH) - NRAY - HES 0f & o8 Slatel

—2HEE 2 2,000,000& =13l 2,000
1,400

180
420
— A2t A nSH 200,000& #53l 1,000
700
90
210

M H o

M ook

202 01t 2,000 0 2,000
1,400
180
420

M ook

O Hl 2,000 0 2,000
S3AHAMY 2,000

—IUHHHI(ZRY) 100, 000& 20 2,000
1,400

180
420

Moo

403 TR EEM S X201 & 2,137,857 581,000 1,556,857
1,496,500
192,407
448,950

M OH oo

CHeHCH &t AL BI 2,137,857 581,000 1,556,857
Ared 2,137,857

SUYHAMK ZSEZHIMS (B2 SsHEZS AL 2,137,857,000& =14 2,137,857
1,496,500

192,407
448,950

M ooy

x
0y
2
b
=
P}
Opt
t]
0
==
>
e

1,000,000 577,000 423,000
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M I nx
270 K
o1& om

iy
ne 4

i

O

v

%

02

1>

[Pa

OF

Q

Ui

i

o
=

=] M . ol (3 = AL = oH dEE =
- e 84 . ct ( ):")°k”—l‘}\|'x=|'mo—| 01'&—- O;Il/\I-OH HIJ'L_,O
—_ T

700,000
90,000
210,000

M oH ool

201 dBt2E | 3,000 0 3,000
2,100
270
630

M H ook

01 AR 2teltl 3,000 0 3,000
OZE3AHAMY 3,000
—2dg2s 24| 2,000,000& *12] 2,000
1,400
180
420
?IE WSl 200,000& *53] 1,000
700

90
210

M ool

A H ooy

202 04 dl 2,000 0 2,000
1,400
180
420

Moo

(=] 2,000 0 2,000
S A A 2,000
—2UHHEI(BRE) 100,000 20 2,000

1,400
180
420

A oo

403 XX EHH S =0l A 995,000 577,000 418,000
696,500

0
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X ZH -
=1

el

O Ol ¥
M I nx
270 K
o1& om
iy
ne 4
A
O
v
%
02
1>
[Pa
OF
Q
Ui
h

o
=

MET

SA - EB - HA(BH) - NRAY - HES 0f & o8 Slatel

89,550
208,950

H

CHeHCH & AHR BI 995,000 577,000 418,000
Abed 995,000

—NAHATHX SESHUAS (SF2s5HES A 995,000,000& » 14! 995,000
696,500

89,550
208,950

M ook

O HATHAI SEIHIAY 428,571 926,000 N497,429
300,000
38,571
90,000

M ook

401 Al EHIZ 2O 428,571 926,000 N497,429
300,000

38,571
90,000

M H ooy

01 Al &l 425,547 921,919 N496,372
OZE3AHAMIY 425,547

— Ot HATHA SEIHIAL 425,547,000 « 14| 425,547
300,000

38,571
86,976

03 AlE =2 0HHI 3,024 4,081 1,057
O ZE3AHAME 3,024
— Ot HEATHA SEIHIAY JIEHZHI 420,000,000& *0.72% 3,024

Mooy

NZEAWK S8 P ALY 428,571 907,000 N478,429
300, 000
38,571
90,000

M H ooy
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SN AEDED
HE: s TARE(SYHSLM/5Y - &)
Sl SE0ISHY U SYUMMY HE CEEEED
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
201 QB2 Y| 3,000 0 3,000
2 2,100
= 270
2 630
01 AR 22t 3,000 0 3,000
OZSsHAL 3,000
—2®ols 2| 2,000,0002! *13] 2,000
2 1,400
= 180
2 420
— MY A DS 200,0002! 53] 1,000
2 700
= 90
2 210
403 Tt XI €A S X2 01 & 425,571 907,000 £481,429
2 297,900
= 38,301
= 89,370
02 2012+ S 0l CH et CH & At s bl 425,571 907,000 £481,429
OZ=3IHAL 425,571
~XDUATX ESFHIAL (B2SHED A 425,571,0002 14! 425,571
2 297,900
= 38,301
2 89,370
EHSATIR BSFHUAY 691,428 0 691,428
2 484,000
& 62,228
2 145,200
201 Y2 Y| 3,000 0 3,000
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420

1,000

700
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210

3,000
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—JlEA8 29| 6,000,000, 000& *1.44% 86,400
60,480
7,776
18,144
—AAEH ESH| 5,300,000, 000& *2.87% 162,110
106,477
13,690
31,943
— X LAY 2| 50,000,000& » 14| 50,000
35,000
4,500
10,500
—EXHH 397,918,000& » 14| 397,918
278,543
35,812
83,563

Moo M ook M H o

Mooy

JIAHEEEHZE A2 50,000 0 50,000

401 Al EHIZL S THHI 50,000 0 50,000

01 Al &4l 50,000 0 50,000
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401 AIEHIZL 2 THHI 735,714 714,000 21,714
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SN AEDED
I S ERS(SUHSLL /5 - 5E)
Sl SAML ALY CEERE
= = & E
S B SHA(SH) - MRAY - BES O 4+ 04 e HRE2
Z 515,000
= 110,356
2 110,358
01 Al &8l 531,745 540,572 £8,827
S35 A 531,745
— DR T AR2SSHLAY (4RHE) 531,745,000 %14 £ 531,745
2 374,559
= 80,262
2 76,924
02 Zreltl 200,630 170,000 30,630
OZ=sIHAL 200,630
— DIBXT AA2SAMLAY AL B8 (3TE) 200,630,0002 14! 200,630
z 140,441
= 30,094
2 30,005
03 Al& = ThbI 3,339 3,428 £89
O ZSaHAMY 3,339
— DHEXT ARSELMLAMY DB 530,000, 0002 *0.63% 3,339
EYIHEEHLIAY 160,000 100,000 60,000
= 80,000
2 80,000
401 Al EHI L 2 THEI 160,000 100,000 60,000
= 80,000
2 80,000
01 Al &t 158,848 100,000 58,848
O THRZAY 58,848
—EYIN =SULTAY(4HL) 158,848, 00021 *14} 56,848
= 80,000
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SN AL DED
HE: s TARE(SYHSLM/5Y - &)
Sl BAIH YA (e ®e)
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
= 78,648
03 Al& = THY| 1,152 0 {152
OZHI2E ALl 1,152
—EYRH =SYAIANY JIEBY) 160,000, 0002 0. 72% 1,152
NESE2H 352,857 714,000 A361,143
z 247,000
@ 105,857
401 A& HI L 2 THEI 352,857 714,000 A361,143
z 247,000
2 105,857
01 Al &t 350,337 709,501 £.359, 164
OZ =33 A2l 350,337
~HINR NELSANWLAL 350,337
COHERAT MY 22 Al 350,337,000 *14! 350,337
3 247,000
z 103,337
03 Al &= CH bl 2,520 4,499 A1,979
OZ =3 A 2,520
~EINP NELSLHL JIEHBY) 350,000,000 *0.72% 2,520
SN EES R 707,096 621,357 85,739
3 200,000
= 142,857
z 364,239
SN EES R 100,000 108,900 8,900
401 A& HI L 2 THEI 100,000 108,900 £8,900
01 Al &t 100,000 108,900 8,900
O%2INES M2 100,000
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— A2 HES(5HL) 50,000,000 =14l 50,000
—xclAEE2 FNEF(4Ma) 30,000,000& =14l 30,000
—sgE8 23 ¥ 2% EH(8MHL) 20,000,000 = 14! 20,000
A2FX HE= 121,382 116,680 4,702
101 124 4] 21,382 16,680 4,702
04 DIt 22X EE =+ 21,382 16,680 4,702
OAFXHME 2Hl2I 41,680 x3F 17100 & 21,382
401 Al HIZ S THHI 100,000 100,000 0
01 A€ H 100,000 100,000 0
OaFX HESAY 100,000
— 2R B(4HL) 20,000,000 404 2 80,000
—SHAFX HLUHAE =8 4 20,000,000& =14l 20,000
22 ANESHEHA (KA FOIAY-BX) 200,000 100,000 100,000
= 100,000
s 100,000
401 Al HIZL S THHI 200,000 100,000 100,000
= 100,000
o 100,000
01 A&l 200,000 100,000 100,000
OZHIEXAY 200,000
— 2T Eti=2 FHIAY 200,000,000& » 14! 200,000
= 100,000
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S AE2HESANS(BX) 285,714 0 285,714
= 200,000
S 42,857
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01 XA E S H SHI 286,000 0 286,000
OZHIE=AMd 286,000
—g8lld SEHA 7Y E=S 286,000
B 84,000,000 »2CH 168,000
= 36,000
2 132,000
Eng= 59,000, 000& *2CH 118,000
= 36,000
= 82,000
HAH 822 &1 41,500 41,500 0
201 L2 | 15,600 15,600 0
01 AtR 22l Hl 15,600 15,600 0
OHA o8 g2z 28 E2HI(A) 130,000& »10CH x12& 15,600
401 Al&EHIZ 2 0H 8] 25,900 25,900 0
01 Al & HI 25,900 25,900 0
OHA 28 83z dHFEEE EX(5-as22 2 3,700,000 +7CH 25,900
EHAIEH HE XA 152,100 81,300 70,800
201 L Et2gH| 141,600 70,800 70,800
01 At 2teltl 141,600 70,800 70,800
OEAl 22 & 10| 100,000 »118CH x12& 141,600
401 Al & HI 2 2 0H 8] 10,500 10,500 0
01 Al & HI 10,500 10,500 0
OSAl S22 HZH 300,000 *35CH 10,500
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SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

B WELFZA(ZHIESR) 25,008 0 25,008
= 6,502
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101 I244] 25,008 0 25,008
& 6,502
= 18,506

04 JI2HHZ22RHSE> 25,008 0 25,008
O&HIEZAY 25,008
—g8lHALEE WEE TA 41,6803 x60H x5 +23] 25,008
& 6,502
= 18,506

DSHYANLSS 419,940 280, 140 139,800

DSHEAEE8 EXAMY 321,800 155,000 166,800

401 AIEBIZ 2018l 321,800 155,000 166,800

01 Al & HI 320,000 155,000 165,000
OusSotd AIES(8AE S) 84X 2 Ful 500,000& *5001 & 25,000
Onsotd AIds(Colstet-as, =) &R 50,000, 000& *2JH 2~ 100,000
OusSsssS(EES) i ¢ a4 15,000, 0003 *1JH A 15,000
O 2Z2E LAY 2,000, 000& *57H 2~ 10,000
OMa =8 23 & FXUHE dEMd 170,000
- ZelHE 2F 849 20,000, 000& =14l 20,000
—38 & =X&E 4| 150,000, 000 * 14 150,000

03 Al &= HHI 1,800 0 1,800
OJIEtE I 1,800
— WSHHEAEE EXNAY 250,000, 000& *0.72% 1,800

MSsS fIE2e 26,640 26,640 0
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AN AENE D
I HsRSRH (+=5LDS/HELS - 27SIIE)

o9 DSHONLEE (69 &2
= = PSHE!
BA-BH . O (3H) - NEAY - BAS Ofl AF 04 0];& HDE2

401 Al &2 HIZL £ 01| 26,640 26,640 0

01 Al & HI 26,640 26,640 0
OUNENSI| |24 AH2I(HESH) 20,000& * 1110 =12 26,640

HASZE X 22 71,500 98,500 A 27,000

401 Al EHIZL 20 Y| 71,500 98,500 A 27,000

01 Al & HI 71,500 98,500 A 27,000
OHASZE X (8LS 2 6IHH) 9,000, 000& *7IH A~ 63,000
OHASLE TH(MSH : 22X 1100H) 500,000& 170 2~ 8,500

=83 AXNHSE NSEA =2E 131,943 128,898 3,045

WSAIE otd 22| 79,704 77,534 2,170

201 Bt | 79,704 77,534 2,170

01 At 22l Bl 32,404 30,934 1,470
OFXctxs NSHZ(SEH!) 7,000& *5H «60 2,100
OFXH A U= 50,0003 *3H 23] 300
OLESADHENE AN MNE=HE ZAIS 200,000& *1H 13| 200
OUT Mo ¥ 89 & &Y 70,000 x10YH *53| 3,500
OnsEng =2 MEX M 100& 10,0000 *3& 3,000
O8I JdEeis S 235 DAAM L AEHA HEF 300& x1,00000 *10&] 3,000
OF&X &5 28 2L(X7, U, dEss8 S) 1,000, 000& 1,000
O2"Y =8X @ CCTV & SALE 2 150,860,380& x12/100 18,104
QuECHHZH EHS (Y S) MHE 60,000& * 10 2~ 23] 1,200

02 332934l 47,300 46,600 700
OnNsEds) & HMIUEEH =2 55,000& 70l *23] 7,700
Onsdlss #JI3 30,000 * 1104 *12& 39,600
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CiPl EEF ENCS DEIA Y (=L
SH- B O(BH) - HBAY - BAS Ol &k o8 e
H= EXHS 46,739 45,864 875
101 @1 24d| 43,239 42,364 875
04 JI2HHZ22 RS E> 43,239 42,364 875
O=8=.Z XS 43,239
—JlE= 41,6803 *3% 220 27,509
-5 41,6803 *x3% 45! 5,627
—Hxsg 41,680 x3H 12! 1,501
—24 =X ¢H EE3 41,6803 x3%F 30! 3,752
—E8 = 33X ¢X BESGUH BER) 34,637,000 *14% 4,850
202 04 i 3,500 3,500 0
01 2 WA YI 3,500 3,500 0
O28=8X &5 ol 20,000 x5 »35 3,500
“4xs XA 5,500 5,500 0
307 @I2t0| & 5,500 5,500 0
03 AtRIEtME X2 5,500 5,500 0
ORYE2E N3 S A2 M KI& 5,500
—oHE & L3 3,000,000 3,000
—SHEH2EXE 2,500,000& 2,500
gus=HA# 125,000 60,000 65,000
= 2,500
= 122,500
s 120,000 60,000 60,000
307 @I2t0| & 120,000 60,000 60,000
05 2122 E = 120,000 60,000 60,000




SA: HEDED
M HEDS2SH(+2LUS/HELS - SREIIE)
Gl SENsSLOXe (el ®e)
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ONEANE |AS ZEUAl 29 I 2,500,0002 *4CH* 122 120,000
SENE SYXNA(THEX) 5,000 0 5,000
[ 2,500
2 2,500
201 LBt H 5,000 0 5,000
[ 2,500
= 2,500
01 Ab2 22l 5,000 0 5,000
OGHIEE A 5,000
—SHUELCHBYAN) K2 T2 SH2 X 5,000,000 *14! 5,000
[ 2,500
= 2,500
HEnsss 42,000 12,000 30,000
ANSHAHD 2SR 12,000 12,000 0
307 9I2t0| & 12,000 12,000 0
02 QIAHFATEZ 12,000 12,000 0
OCAIHAHDE 2 X2 1,000,0002! * 122 12,000
NAHAEDIE S22 b 30,000 0 30,000
401 Al EHIZL 201 30,000 0 30,000
01 Al &4 30,000 0 30,000
OQAASIHAHDE S2E U AY 30,000,000 * 14} 30,000
UM A (AL RED)(OIEH/IIEH) 80,886 80,886 0
=2l 80,886 80,886 0
o=l 80,886 80,886 0
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FAAd8nEN
A HH2IHH(HE WS H)(IIEH/IIEH
chel: Jl=2 Yl R
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t
201 L er2 A | 43,926 43,926 0
01 At 22| dl 43,926 43,926 0
ORNEN 1,831,000 x21H 38,451
O= &l 7,000 »21F »25¢ 3,675
O=AE=AI X2 150,000 = 1CH+12& 1,800
202 04 32,760 32,760 0
01 2 WA YI 32,760 32,760 0
O2 Kbl 80,000 x218 123 20,160
O&2 0l 75,000 »21F 8 12,600
203 g2 =&dl 4,200 4,200 0
04 2N2EER2F=EHI 4,200 4,200 0
OFNM2IRFH 350,000& x12& 4,200
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